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Plot the graph of pair of linear equations x — y = 8,

3x-3y= .. &

2. Wew, aflon gm 2x+5y =17, 5x--3y =14 H UM
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a, b,

Obtain the nature of s.oiuition by comparing the ratios
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3. Waw wfieor IH 2x+3y="7, 3x—-2y=6 § x o AE T~
T faft & sma i
Find the value of x by cross multiplication method in the
pair ct 'inear equations 2x+3y=17, 3x--.y=6.

4. M ﬁﬁv’lﬁ : sin 30° se;: 60° + co. e~ 45_° cos 90°..

Evaluate : sin 30° sec 67" coécc 45° cos 90°. _




4. “+[ =1 : sin 30° sec 60° + co.«.~ 45° cos 90°.

Evaluate : sin 30° sec 60" - cdscc 45° cos 90°.
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5. S€€39° o um P I-
| cosecol®

sec 39°
cosec51°’

Find the value of
6. 4T % gaEy R I 6T Q) vdl B -

State any two conditions for two triangles be similar.



8. ‘in?ﬁ(a,g)’(_.mg)w('g‘-1)3@%@%%
A H
Find the area of the triangle having vertices (-3, 8 ),
(-4,2)arl(5,-1).

9. .mﬁf{ﬁ;W(s,1),(3,-4)W(2,-5)Qﬁf@$§|

~rove that the points (8, 1) (o,-4)and (2,-5) are
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-Solve th.~ pair of linear equations x+ y = 13, x — y= S
by vubstitution method.

' G 2 o 2. o 2 o
1, uAE e Scos“ 60 2+4SCC“_$\.2 tan“ 45 .
sin“ 30" + -os 30°

5 cos? 60°+4 8602 30° -~ tan? 45°
Evaluate : .

. sin® 30°+cos? 30°

12. cosec?57° - (an?33° &1 9H FId *I|

Find.thﬂ value of cosec? 57° —tan? 33°.
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1&. 4f} sin3A=cos(A-10°) @ A 5 A T B
If sin 3A=cos(A-—1I0°] “v2n find the value of A.
14. fouma @i 6x% - x-2=0 % g 71 H
Find the roots of the qu.adratic equation 6x% - x~2=0.

15. fgoo afieor 8x2 —22x =21 =0 &1 F 1% 7@ H

i g

Find the discriminant .. the quadratic equation




formed h.'ving vertices (- 3, 0 ), (5,-2) ar1(-8,5)

25. Rre ot x2 - 5x-36=0 % qH T Al

- Find the roots of the quadratic <quation x2 -5x-36=0.
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Questior 1os. 26 to 33 are Long Ansu Type questions.



An:uer any 4 questions. Each questi» carries 5 marks. - %‘*E%

4 x5=20

26. feara @i % e Frewren o1 g e S
Establish the formula to find the roots of a quadratic

equatin.t.
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27. 2ee 0% w9 F al Ry it @ T H

Find all the trigonor. : rical ratios in the form of sec 9

28. cosecSO°WWWﬁﬁﬁmﬁmail

"Fir @ the value of cosec 30° with thc aelp of Geometry. g‘g
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Ve v ow ey

State and prove Pythagoras theorem. | g5

30 mmxmﬁwﬁw%mm,nmaam%sﬁ E

ﬁwgmaﬁaﬂagqma’m?a o ; &




pore

L TR ?saﬁ%z Ercad

%‘m %0 Gec éo'#« ‘c:oc,ec yas”© Cé% Qslbo"_§

57" Q»X%-F-Fxo

> 146 = ’Lﬁ»rg il

%ec 0y°

cosec S1° - z e %

> Coseq(0=G1 ) _  rocecar _

)
]
a

CoGeC 51" :m~ -

: ) cl

@r mqg\m &3 q—m@u, &:Jdm% I FsT QT

=
(1) AA [@or— Hor) - ME % 10 &
T

2y oro] W%HL % SI{’GRi

Un c.ac (%M‘\_ogw - ‘_@\“3,__ 'zﬂc? {J%

e & 2T elond %HL

N i
B DA TN F anteurd 2

9 Ao, dr

;»

L%nr (,%)

](’)(q_’-"}(ﬂq‘ﬂ"(\éz“\i) h |

= I'l-»l/—— s |
,

ESY (=F7T

i W A———
wscmsey Pmo——s It

SAEFSY R FI) >

> JEher (- ”tr:)"ﬁf—“”"““‘f
=J1C 1

2\4\[——7@%



e |

v sagw T

B G Fuas s
B o
~>.-'-

r\ F"/(%ﬁ_ 505)4-'7‘2.(3 ij +7‘3(€h"5;:
o (->.+w+<~u>u 3)-1—%(93 1) | |
; I .
5‘65‘/:5?("5 U-5+ %G =

[{

i -—f[%-L%—F%o,’“

.i> e ‘x-q%a |

eamesimimsinr fioirm ot i sae
ol aravengnateond iipeord Swisear-arg ST e =

- 2%’ -
(1o rx+"3 lf.’) -"’QD
0 m-—g S —(D

Q’\Ho@ ‘<"\

A+Y =

Tk = lfb‘d

N q.

| - ~)
£H0®_H *;LW HIlsd <9 ‘(-(_.

FU— B

\
ac]
!

el s




‘\‘,’ S)CoSq“ 60-»[—-(»{ Q@C%O‘_%M’IHQu A:
e
> SUDEF9/Z T T 3
B > b i M

§
S
¢
t

B
1

il ommpernid pastpmetaind SETEELS

Cos o™ S —Jam?® oy

> g (e— 33 =A™ 33" ;

— S et —Jamtow
| =4 AL |

\rintimnsiomstra] arcc




——

S —

(- —, ""l+j"\ ) :
P lQ:_vx, ﬁl’k_______._—/xﬁ
- = 5 X
; 2= J2=




P — o

a=%, bzona C=al

(-Df: b2 UaC

(D L(L'L)S*V\X‘&')(—u T

D= usutira

D= St

et [porssmamotmoys -2 brev) skt

aA=u, b= -lo , C=9

e Ya C

CD Lmvwxw\m _ 1
i

D= UYy— Y

‘D=0

L

e

H@/”jf(;m,ojj (6,2) A o o

D ALY 9t

-—

L Y

e —————

rer—

=l +6 c’>+({>

e

?..——.. s B

___/\ % q%}*

e eerr—

.0
194




BRI A iraa . _
-lolvw_lsfmo 26-5%0 Yo-yg

Qo~§°J

i B T M FEICNG) B Y 1 -US

MQ ‘

,' —'FL'Z "Lg

Sgd% }%/ﬂ $°-\kh"'

\’L?]“':Fo :F’L. )

_@Q-{—-/‘"’g D5 \')('IO_

[ ﬁxu%—sg’ﬁi"'

-<{>o-P = X 10

_%0 ——éo

e ?56 —+ 16 X o
- 2o

R Yo i s Yo oY

— BAD AR




p--—-:--....’

=) | : » . :
ol opsQ Page No. .
elsQ i . Dats

t

pfree e M e TN

<l e ’ :
' 5 VT
B(H)V b) ‘G) nqq \

‘ Aisrmwo-g ~r 17 EAT

|
/w+%1+‘>‘3 ) 9;+g9j>33 \

f:.\ X S
[otupy  a4YAC N
e Ty 5 )
/l e\
\ | %//)(5

16 ,
(Lﬁ?) A —

\/




31, Q2 9 a7 hT &3thed &l dxtehl | fHenTerd &:

IR AT T SFH + ST dTet I hl SAha

1
=4 x §ab+02:2ab+c2

Sl SRTeR gl
(@ 4+ b)* = 2ab + ¢
a’ + 2ab + b%* = 2ab + ¢

a’ +b° = ¢’
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AC? = AB* + BC”?

¢’ =a’ + b’

UHTOT (Geometry ):

1. U aif g8y fSigeht y=ir a + b &l

2. 39 JI o IR Il UR Teh-UYeh GHhIUT AT
AN ABC 3@ dfSu|

3. 39 HIRIT Y 9 § Ueh BieT af s fSigeh!
ST ¢ (chol) BT

319, IR 98 I T &5thel &I d<iahl & fepTerd &




ST 1 ; UTSUTNRY UHY &l = 3R
UHTOT

fafa (Situation):
A S foh Teh gwenior Resr A ABC' g, fora
/B =90° 28I
ST bl U ST TR 8
e AB = a (v9)
e BC = b (3MuR)
e AC = c (1)
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